




Supplementary sheets Giubilo-Giubilo 

1 → 1 

 2 ( natural or strong with 6+ )     →2 = ask 

2NT = 6+ no 318-21 

3 = 5/4 →3ask sing  → 3/3/3NT = //2-2 

3 = 6/4 or 6/5  3=  ask sing  → 3/3NT = 6/4 sing /sing   4 = 6/5  

3 =6+ 16-21 with 3 

3 = 6+ no 315-17 

_____________ 

1 →   1→ 

2 SA→ strong with support     →3 ask 

_____________ 

1 →1 

2  ( natural or strong with 6+ )    → 2 ask 

 2NT= 6+ no 318-21 

3 = 5/4 →3ask sing  → 3/3/3NT = //2-2 

3= 6/4 or 6/5  3=  ask sing  → 3/3NT = 6/4 sing /sing   4 = 6/5  

3= 6+ 16-21 with 3 

3 = 6+ no 315-17 

_____________ 

1 →   1→ 

2 SA→ strong with support     →3 ask 

_____________ 

1→ 1 

2  ( natural or strong with 6+ )    → 2 ask 

2NT== 6+ no 318-21 

3 = 5/4 →3ask sing  → 3/3/3NT = //2-2 

3= 6/4 or 6/5  3=  ask sing  → 3/3NT = 6/4 sing /sing   4 = 6/5  

3= 6+ 16-21 with 3 

3 = 6+ no 315-17 



_____________ 

1 →   1→ 

2 SA→  strong with support     →3 ask 

_____________ 

→ 2 

2= min. unbalanced no both minors 

2= min balanced or minors 

2 = 5+−4++  

2NT = 6+ no sing 16-20 

3 = 6+ sing / 16-20 

3= 6+ sing   

3/3/3NT = 4441 16-20 (//) 

_____________ 

1→ 1 

2 ( natural or strong with 6+)→2NT= ask 

3 = 5/4 →3ask sing  → 3/3/3NT = //2-2 

3= 6/4 or 6/5  3=  ask sing  → 3/3NT = 6/4 sing /sing   4 = 6/5  

3= 6+ 16-21 with 3 

3 = 6+ no 318-21 

3NT= 6+ no 315-17 

_____________ 

1 →   1→ 

2 SA→ strong with support     →3 ask 

_____________ 

1 →   1→ 

2 → natural or strong with 6+   → 2nt ask 

3 = 5/4 →3ask sing  → 3/3/3NT = //2-2 

3= 6/4 or 6/5  3=  ask sing  → 3/3NT = 6/4 sing /sing   4 = 6/5  

3= 6+ 16-21 with 3 

3 = 6+ no 318-21 



3NT=6+ no 315-17 

_____________ 

1 →   1→ 

2 SA→ strong with support     →3 ask 

_____________ 

1 →   1/1→ 

2 → natural min or max FORCING 1 ROUND 

_____________ 

1→ 2 

2= min. unbalanced no both minors 

2= min balanced or minors 

2 = 5+−4++  

2NT = 6+ no sing 16-20 

3 = 6+ sing / 16-20 

3= 6+ sing   

3/3/3NT = 4441 16-20 (//) 

_____________ 

1→ 1/1NT → 

2 → natural or any strong hand →2ask 8+ hcp 

2=54+ 12-14 

2 = 18+  with 3+or 5422 with 4 card in a minor  

2NT= 15-17 or 18-20 with 1 or 2    

3 = 15-17 5+/4+ 

3 = 15-17 sing with 4 or. sing with 4 

3 =15-17 5+  

3 = 15-17 5422  

3NT = 15-17 5422  

4 = 15-17 65  

_____________ 

1        → 2 



2 =  all 12-15 hand without   

2 =  MIN/MAX  5+ e 4 

2 =  16+ 6+ /balanced 16+ 

2SA = 16+   5+ e 4 

3 = 16+   5 e 4 

3 16+   6 e 4 

3 = 16+   5 e 5 SGL  

3= 16+   5 e 5 SGL    

3NT=T 16+  544   

_____________ 

1→ 1NT → 

2 → natural or any strong hand →2ask 8+ hcp 

2=54+ 12-14 

2 = 18+  with 3+or 5422 with a minor  

2NT= 15-17 or 18-20 with 1 or 2    

3 = 15-17 5+/4+ 

3 = 15-17 sing with 4 or. sing with 4 

3 =15-17 5+  

3 = 15-17 5422  

3NT = 15-17 5422  

4 = 15-17 65  

____________ 

1        → 2  

2 =  all 12-15 hand without   

2 =  12+ con 5+ e 4 

2 =  16+ 6+/balanced 16+ 

2SA = 16+   5+ e 4 

3 =  16+   5 e 4 

3 =  16+   6 e 4 

3 =  16+   5 e 5 SGL  



3=  16+   5 e 5 SGL   

3NT= 16+   544   

____________ 

1    1(opponents) DBL = 5+  

                            1 = 5+  

            1 = 4  

                                                       2 = natural F1 

                              2 = 4-4+ majors 

            2 = 4 10+hcp 

            2 = F.G. texas for 2NT 

            2NT = natural 

            3 = 6+ pre 

            3 = 5/5 / 6-10hcp  

____________ 

1/1    1 (opponents) DBL = 4/5 

             1 = take out DBL without 4 

            1NT=Nat 6-11 with stop 

             2 = natural weak(if open 1)/natural F1(if open 1) 

             2 = 4/5 weak(if open 1)/natural F1(if open 1) 

               2 = 6+ 3-10 NF 

             2 = 6+ FG 

            2NT = natural 

            3 = 6+ pre  

            3 =5/6 weak (if open 1)/6+ pre(if open 1) 

____________        

1/1    1 (opponents) DBL = 4/5 

             1NT=Nat 6-11 with stop 

             2 = natural weak(if open 1)/5+FG /6 INV(if open 1) 

             2 = 4/5 weak(if open 1)/5+FG /6 INV (if open 1) 

             2 = 10+ BAL or 6+ inv 



             2 = 5+ FG(if open 1)/= 5+ FG(if open 1) 

            2NT = natural 

            3 = 6+ pre  

            3 =5/6 weak (if open 1)/6+ pre(if open 1) 

____________   

1    2 = nat. FG 

2=  nat  

2NT = 3and balanced hand or 11+unbalanced                 

3 = nat.15+ 

3= nat.15+ 

3= 4 and minimum  

3 = nat 7 

3NT=5-42-2 15+ 

4=5-4 sing  

4=5-4 sing 

____________   

NV 1NT 11-14 

1SA              2= Stayman IM 

                     2=  Stayman FG 

                     2/2/3/3= weak to play 

                     2NT= inv 

                    3/3= sing  

                    4/4= trsf to 4/4  

                    4/4=to play 
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